
<latexit sha1_base64="g3xy+vTDpxTq60tFtj7o/fI6MYw="></latexit>

<latexit sha1_base64="v614yZ9a0Xf4lgabvtDy3e8onkI="></latexit>

<latexit sha1_base64="RmIm+Eq9A07n1d/3DPzfyBReiew="></latexit>

<latexit sha1_base64="O592NrdcC4PJ1sPYgroGPF6lOgw="></latexit>

<latexit sha1_base64="vyWXHgeI291NDAyNEB7XxNvL0QA="></latexit>

<latexit sha1_base64="ze7y6A/8T66BCTcgNZDrG9xYOIY="></latexit>

<latexit sha1_base64="5vvu3wwKC6e6s5DFkdd/lg4tgto="></latexit>
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rBi?
Qb+BHH�iBM;

H�iiB+2
<latexit sha1_base64="36Ak6DfuKQnDlAICNZaEwJ7PVBc="></latexit><latexit sha1_base64="36Ak6DfuKQnDlAICNZaEwJ7PVBc="></latexit><latexit sha1_base64="36Ak6DfuKQnDlAICNZaEwJ7PVBc="></latexit><latexit sha1_base64="36Ak6DfuKQnDlAICNZaEwJ7PVBc="></latexit>

rBi?Qmi
Qb+BHH�iBM;

H�iiB+2
<latexit sha1_base64="gC9CDwsMyrKqmNeR0Y/l5OEvDr0="></latexit><latexit sha1_base64="gC9CDwsMyrKqmNeR0Y/l5OEvDr0="></latexit><latexit sha1_base64="gC9CDwsMyrKqmNeR0Y/l5OEvDr0="></latexit><latexit sha1_base64="gC9CDwsMyrKqmNeR0Y/l5OEvDr0="></latexit>

bi�#BHBx�iBQM
<latexit sha1_base64="bdtEunzsxx5X0MTv349buYI54hU="></latexit><latexit sha1_base64="bdtEunzsxx5X0MTv349buYI54hU="></latexit><latexit sha1_base64="bdtEunzsxx5X0MTv349buYI54hU="></latexit><latexit sha1_base64="bdtEunzsxx5X0MTv349buYI54hU="></latexit>

T = 1
<latexit sha1_base64="TZqO8vA6hbywyZLrCS8+eh6DXXo="></latexit><latexit sha1_base64="TZqO8vA6hbywyZLrCS8+eh6DXXo="></latexit><latexit sha1_base64="TZqO8vA6hbywyZLrCS8+eh6DXXo="></latexit><latexit sha1_base64="TZqO8vA6hbywyZLrCS8+eh6DXXo="></latexit>

T = 3
<latexit sha1_base64="XRmcakqumewGNMtHCSB00q7sEmA="></latexit><latexit sha1_base64="XRmcakqumewGNMtHCSB00q7sEmA="></latexit><latexit sha1_base64="XRmcakqumewGNMtHCSB00q7sEmA="></latexit><latexit sha1_base64="XRmcakqumewGNMtHCSB00q7sEmA="></latexit>

T = 2
<latexit sha1_base64="brk6ITSh4cvU8kr0lhcuBHK/nLk="></latexit><latexit sha1_base64="brk6ITSh4cvU8kr0lhcuBHK/nLk="></latexit><latexit sha1_base64="brk6ITSh4cvU8kr0lhcuBHK/nLk="></latexit><latexit sha1_base64="brk6ITSh4cvU8kr0lhcuBHK/nLk="></latexit>

T = 0
<latexit sha1_base64="oHU8bja1eCpFi1AoBu1oT1XLCzc="></latexit><latexit sha1_base64="oHU8bja1eCpFi1AoBu1oT1XLCzc="></latexit><latexit sha1_base64="oHU8bja1eCpFi1AoBu1oT1XLCzc="></latexit><latexit sha1_base64="oHU8bja1eCpFi1AoBu1oT1XLCzc="></latexit>

+H�bbB+�H bi�#BHBiv K�T
<latexit sha1_base64="GrHgnP2hGTaf/lSMLdVD9m4UBnQ="></latexit><latexit sha1_base64="GrHgnP2hGTaf/lSMLdVD9m4UBnQ="></latexit><latexit sha1_base64="GrHgnP2hGTaf/lSMLdVD9m4UBnQ="></latexit><latexit sha1_base64="GrHgnP2hGTaf/lSMLdVD9m4UBnQ="></latexit>

~e↵ ⇡ 0.035
<latexit sha1_base64="gKOse54H6DF47lGh5ySRK0jxcCg="></latexit><latexit sha1_base64="gKOse54H6DF47lGh5ySRK0jxcCg="></latexit><latexit sha1_base64="gKOse54H6DF47lGh5ySRK0jxcCg="></latexit><latexit sha1_base64="gKOse54H6DF47lGh5ySRK0jxcCg="></latexit>

~e↵ ⇡ 0.07
<latexit sha1_base64="VBYdTG/jbGffZPIDiwb7Eb/ZXaM="></latexit><latexit sha1_base64="VBYdTG/jbGffZPIDiwb7Eb/ZXaM="></latexit><latexit sha1_base64="VBYdTG/jbGffZPIDiwb7Eb/ZXaM="></latexit><latexit sha1_base64="VBYdTG/jbGffZPIDiwb7Eb/ZXaM="></latexit>

~e↵ ⇡ 0.05
<latexit sha1_base64="UGAuCdZZl+4KYJMLaBp27NIj3W0="></latexit><latexit sha1_base64="UGAuCdZZl+4KYJMLaBp27NIj3W0="></latexit><latexit sha1_base64="UGAuCdZZl+4KYJMLaBp27NIj3W0="></latexit><latexit sha1_base64="UGAuCdZZl+4KYJMLaBp27NIj3W0="></latexit>

bi�#BHBx�iBQM %
<latexit sha1_base64="jzh4fWfXbnCvo2fnjNQf0MoS008="></latexit><latexit sha1_base64="jzh4fWfXbnCvo2fnjNQf0MoS008="></latexit><latexit sha1_base64="jzh4fWfXbnCvo2fnjNQf0MoS008="></latexit><latexit sha1_base64="jzh4fWfXbnCvo2fnjNQf0MoS008="></latexit>

!i
<latexit sha1_base64="9d23hSZrp7mQQKnFF8NJ815rSco="></latexit><latexit sha1_base64="9d23hSZrp7mQQKnFF8NJ815rSco="></latexit><latexit sha1_base64="9d23hSZrp7mQQKnFF8NJ815rSco="></latexit><latexit sha1_base64="9d23hSZrp7mQQKnFF8NJ815rSco="></latexit>

U0 cos(!`t)
<latexit sha1_base64="F3Wh1cssZ2B+N6MB85lD81hAWbA="></latexit><latexit sha1_base64="F3Wh1cssZ2B+N6MB85lD81hAWbA="></latexit><latexit sha1_base64="F3Wh1cssZ2B+N6MB85lD81hAWbA="></latexit><latexit sha1_base64="F3Wh1cssZ2B+N6MB85lD81hAWbA="></latexit>

!0
<latexit sha1_base64="nUaPhEF7WxS95CIvrM2smFXNGHY="></latexit><latexit sha1_base64="nUaPhEF7WxS95CIvrM2smFXNGHY="></latexit><latexit sha1_base64="nUaPhEF7WxS95CIvrM2smFXNGHY="></latexit>

<latexit sha1_base64="3QPav4RzBKxLXEoPdgJ4MQFPD38="></latexit><latexit sha1_base64="3QPav4RzBKxLXEoPdgJ4MQFPD38="></latexit><latexit sha1_base64="3QPav4RzBKxLXEoPdgJ4MQFPD38="></latexit><latexit sha1_base64="3QPav4RzBKxLXEoPdgJ4MQFPD38="></latexit>

<latexit sha1_base64="XgQvnwUyATu9UbDJrnWy/bOAbLY="></latexit><latexit sha1_base64="XgQvnwUyATu9UbDJrnWy/bOAbLY="></latexit><latexit sha1_base64="XgQvnwUyATu9UbDJrnWy/bOAbLY="></latexit><latexit sha1_base64="XgQvnwUyATu9UbDJrnWy/bOAbLY="></latexit>

<latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit><latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit><latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit><latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit> <latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit><latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit><latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit><latexit sha1_base64="2nWCsUcvGAwbwMEpHynADmljTvE="></latexit>

X
<latexit sha1_base64="qYGRjbSx4POYzK8IjbI8MMLbRk4="></latexit><latexit sha1_base64="qYGRjbSx4POYzK8IjbI8MMLbRk4="></latexit><latexit sha1_base64="qYGRjbSx4POYzK8IjbI8MMLbRk4="></latexit><latexit sha1_base64="qYGRjbSx4POYzK8IjbI8MMLbRk4="></latexit>�⇡

2
<latexit sha1_base64="rfh0exRCq/z6zGXV7G9H4Wc1Sxg="></latexit><latexit sha1_base64="rfh0exRCq/z6zGXV7G9H4Wc1Sxg="></latexit><latexit sha1_base64="rfh0exRCq/z6zGXV7G9H4Wc1Sxg="></latexit><latexit sha1_base64="rfh0exRCq/z6zGXV7G9H4Wc1Sxg="></latexit>

⇡
2

<latexit sha1_base64="FC292dJ6Tc9EJ5TmmMXNO0k1BVM="></latexit><latexit sha1_base64="FC292dJ6Tc9EJ5TmmMXNO0k1BVM="></latexit><latexit sha1_base64="FC292dJ6Tc9EJ5TmmMXNO0k1BVM="></latexit><latexit sha1_base64="FC292dJ6Tc9EJ5TmmMXNO0k1BVM="></latexit>

Ri0 =
!i

!0
<latexit sha1_base64="EpBFRfo7wqxqSGRiRslaxY/sfnA="></latexit><latexit sha1_base64="EpBFRfo7wqxqSGRiRslaxY/sfnA="></latexit><latexit sha1_base64="EpBFRfo7wqxqSGRiRslaxY/sfnA="></latexit><latexit sha1_base64="EpBFRfo7wqxqSGRiRslaxY/sfnA="></latexit>

R0` =
!0

!`
<latexit sha1_base64="6D5ymYLj0a9r9keo3YQG4rcpAds="></latexit><latexit sha1_base64="6D5ymYLj0a9r9keo3YQG4rcpAds="></latexit><latexit sha1_base64="6D5ymYLj0a9r9keo3YQG4rcpAds="></latexit><latexit sha1_base64="6D5ymYLj0a9r9keo3YQG4rcpAds="></latexit>

S2M/mHmK bm#KBii2/ iQ �M Qb+BHH�iBM; 7Q`+2 Q7 7`2[m2M+v !
rBi? x2`Q �p2`�;2 p�Hm2,

<latexit sha1_base64="JBwqgb+7odup2gDvl/UWSKYUxEk="></latexit><latexit sha1_base64="JBwqgb+7odup2gDvl/UWSKYUxEk="></latexit><latexit sha1_base64="JBwqgb+7odup2gDvl/UWSKYUxEk="></latexit><latexit sha1_base64="JBwqgb+7odup2gDvl/UWSKYUxEk="></latexit><latexit sha1_base64="JBwqgb+7odup2gDvl/UWSKYUxEk="></latexit>

<latexit sha1_base64="IhW9SMCIwHhPDGYn5JT5qRxAD5Y="></latexit>

<latexit sha1_base64="TQeSosYN0Nhyi8Hz++q7LIlKX38="></latexit>

<latexit sha1_base64="JGVgHi8spc7owB9CIqK/eVoeDLM="></latexit>

<latexit sha1_base64="4OTZRjXqYFfQlM8b6S7kZITSHvg="></latexit>

<latexit sha1_base64="PsR8Wz1SV7wGwkoQCoqOKhKSM8w="></latexit>

! iBK2b+�H2 b2T�`�iBQM r?2M i?2 TBpQi TQBMi pB#`�i2b rBi? � bK�HH �KTHBim/2
UA ⌧ LV �M/ rBi? � H�`;2 7`2[m2M+v U! � !0V,

<latexit sha1_base64="asSxzJIPKB7yhTrL/9D2F3STOS8="></latexit><latexit sha1_base64="asSxzJIPKB7yhTrL/9D2F3STOS8="></latexit><latexit sha1_base64="asSxzJIPKB7yhTrL/9D2F3STOS8="></latexit><latexit sha1_base64="asSxzJIPKB7yhTrL/9D2F3STOS8="></latexit>

✓(t) = ✓0(t) + ⇠(t) with |⇠(t)| ⌧ 2⇡
<latexit sha1_base64="ls7HMJTu80v66Nm/dUoHGn99cBs="></latexit><latexit sha1_base64="ls7HMJTu80v66Nm/dUoHGn99cBs="></latexit><latexit sha1_base64="ls7HMJTu80v66Nm/dUoHGn99cBs="></latexit><latexit sha1_base64="ls7HMJTu80v66Nm/dUoHGn99cBs="></latexit>

✓0(t), bHQrHv p�`vBM; +QKTQM2Mi
<latexit sha1_base64="FFJ1Izf/Yxl96GedORIZlzaYeAk="></latexit><latexit sha1_base64="FFJ1Izf/Yxl96GedORIZlzaYeAk="></latexit><latexit sha1_base64="FFJ1Izf/Yxl96GedORIZlzaYeAk="></latexit><latexit sha1_base64="FFJ1Izf/Yxl96GedORIZlzaYeAk="></latexit>

⇠(t) = A
L sin ✓0(t) cos(!t), `�TB/Hv p�`vBM; +QKTQM2Mi

<latexit sha1_base64="c05V4MeNATmxBplqzkN9Sy4oRwc="></latexit><latexit sha1_base64="c05V4MeNATmxBplqzkN9Sy4oRwc="></latexit><latexit sha1_base64="c05V4MeNATmxBplqzkN9Sy4oRwc="></latexit><latexit sha1_base64="c05V4MeNATmxBplqzkN9Sy4oRwc="></latexit>

! 1mH2`@G�;`�M;2 2[m�iBQM 7Q` i?2 bHQr +QKTQM2Mi rBi? i?2 2z2+iBp2 TQi2MiB�H,
<latexit sha1_base64="q2+SFxdgo3AHpwAelksubmJcaAo="></latexit><latexit sha1_base64="q2+SFxdgo3AHpwAelksubmJcaAo="></latexit><latexit sha1_base64="q2+SFxdgo3AHpwAelksubmJcaAo="></latexit><latexit sha1_base64="q2+SFxdgo3AHpwAelksubmJcaAo="></latexit>

Ve↵(✓0) =
F 2

2m!2
= �UL

✓
cos ✓0 �

�2

4
sin2 ✓0

◆
rBi? � =

A

L

!

!0
= "

!0

!
<latexit sha1_base64="32Qx+qGPnfA4VQVyu1zMRXMKQrA="></latexit><latexit sha1_base64="32Qx+qGPnfA4VQVyu1zMRXMKQrA="></latexit><latexit sha1_base64="32Qx+qGPnfA4VQVyu1zMRXMKQrA="></latexit><latexit sha1_base64="32Qx+qGPnfA4VQVyu1zMRXMKQrA="></latexit>

A/2�, `2TmHbBp2 �iQK@�iQK BMi2`�+iBQMb ;Bp2 `Bb2 iQ � K2�M@}2H/ TQi2MiB�H rBi? �M mMbi�#H2
}t2/ TQBMi i?�i +�M #2 i`�Mb7Q`K2/ BMiQ � bi�#H2 }t2/ TQBMi #v bm#D2+iBM; i?2 "1*
iQ �M QTiB+�H H�iiB+2 rBi? Qb+BHH�iBM; �KTHBim/2 UQb+BHH�iBM; 7Q`+2V

<latexit sha1_base64="D3e4G0wTXL7p99/HPuMvQOwsJos="></latexit><latexit sha1_base64="D3e4G0wTXL7p99/HPuMvQOwsJos="></latexit><latexit sha1_base64="D3e4G0wTXL7p99/HPuMvQOwsJos="></latexit><latexit sha1_base64="D3e4G0wTXL7p99/HPuMvQOwsJos="></latexit>

AMp2`i2/ /`Bp2M T2M/mHmK
<latexit sha1_base64="9kqBeO+Z7nECCweTSBDEjuRUIyA="></latexit><latexit sha1_base64="9kqBeO+Z7nECCweTSBDEjuRUIyA="></latexit><latexit sha1_base64="9kqBeO+Z7nECCweTSBDEjuRUIyA="></latexit><latexit sha1_base64="9kqBeO+Z7nECCweTSBDEjuRUIyA="></latexit>

1z2+iBp2 TQi2MiB�H �M/ bi�#BHBx�iBQM
<latexit sha1_base64="HMw4mQNwfNDRoaYF984VNKA6O2w="></latexit><latexit sha1_base64="HMw4mQNwfNDRoaYF984VNKA6O2w="></latexit><latexit sha1_base64="HMw4mQNwfNDRoaYF984VNKA6O2w="></latexit><latexit sha1_base64="HMw4mQNwfNDRoaYF984VNKA6O2w="></latexit>

"1* BM Qb+BHH�iBM; QTiB+�H H�iiB+2
<latexit sha1_base64="YaDGTc1IY9L9Us9pxL3ydXWfJjg="></latexit><latexit sha1_base64="YaDGTc1IY9L9Us9pxL3ydXWfJjg="></latexit><latexit sha1_base64="YaDGTc1IY9L9Us9pxL3ydXWfJjg="></latexit><latexit sha1_base64="YaDGTc1IY9L9Us9pxL3ydXWfJjg="></latexit>

E�TBix�
bi�#BHBx�iBQM

<latexit sha1_base64="fjDQ4raIYBKmDmTzgTDyasn4r5I="></latexit><latexit sha1_base64="fjDQ4raIYBKmDmTzgTDyasn4r5I="></latexit><latexit sha1_base64="fjDQ4raIYBKmDmTzgTDyasn4r5I="></latexit><latexit sha1_base64="fjDQ4raIYBKmDmTzgTDyasn4r5I="></latexit>

MQ
E�TBix�

bi�#BHBx�iBQM
<latexit sha1_base64="p3r0YjduENaZcuP83Xem+645oiQ="></latexit><latexit sha1_base64="p3r0YjduENaZcuP83Xem+645oiQ="></latexit><latexit sha1_base64="p3r0YjduENaZcuP83Xem+645oiQ="></latexit><latexit sha1_base64="p3r0YjduENaZcuP83Xem+645oiQ="></latexit>

bi`QM;
/`BpBM; ) +?�Qb

<latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="Ir24b78NQFpRIxLd4s2wr6gPOHQ="></latexit><latexit sha1_base64="MaC4pP8qklQCIFLNjjtS8l/JWzs="></latexit><latexit sha1_base64="MaC4pP8qklQCIFLNjjtS8l/JWzs="></latexit><latexit sha1_base64="lL0hzt9R1tTJnHu1mZQGpw5173E="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit><latexit sha1_base64="760wy9HQH0A1V8dp74XJHTfOVlw="></latexit>

SQBM+�`û b2+iBQMb 7Q` i?2 7`2@
[m2M+v `�iBQb Ri0 = 0.075
�M/ R0` = 0.45 UH27iV- Ri0 =
0.15 �M/ R0` = 0.2 UKB//H2V-
�M/ Ri0 = 0.02 �M/ R0` = 0.7
U`B;?iVX

<latexit sha1_base64="SOQvS9C8tCtSFXjZRuYxnSsudMY="></latexit><latexit sha1_base64="SOQvS9C8tCtSFXjZRuYxnSsudMY="></latexit><latexit sha1_base64="SOQvS9C8tCtSFXjZRuYxnSsudMY="></latexit><latexit sha1_base64="SOQvS9C8tCtSFXjZRuYxnSsudMY="></latexit>

BMp2`i2/ ?�`KQMB+ TQi2MiB�H
<latexit sha1_base64="75elvsr205O5DjvX6aEFh1jpEw8="></latexit><latexit sha1_base64="75elvsr205O5DjvX6aEFh1jpEw8="></latexit><latexit sha1_base64="75elvsr205O5DjvX6aEFh1jpEw8="></latexit><latexit sha1_base64="75elvsr205O5DjvX6aEFh1jpEw8="></latexit>

︸ ︷︷ ︸
<latexit sha1_base64="OceUxvm9cPYOkvfK1DRBVsD9L2Q=">AAACU3icfVDPSwJBGP12szLLsjp2kSQwMNmNoEMXIcEOHYzyB6TI7Phpg7Oz28xsKeL/0rl/o2uHLh3sLwm6tKaHVqM3MDzeezPfx3N8zpS2rLFhLsWWV1bja4n1jeTmVmp7p6q8QFKsUI97su4QhZwJrGimOdZ9icR1ONac3vnErz2gVMwTN3rgY9MlXcE6jBIdSq1UsRGINkpHEorDxtm/5z4g7b+uUSuVsfLWD9KLxJ6RTCH3+vIEAOVW6rPR9mjgotCUE6VubcvXzSGRmlGOo0QjUOgT2iNdHBJXqYHrREWX6DvlI42qj0QNwmxU7IRVMZRHnhQq6jhzyX4gGPXac/P7XPe1JKGoULuEiY4n9LDEOE9fk8mXB1MjXGjiZIusy7TKXYYFi1xJIvYOf6XDquz5YhZJ9ThvW3n7KuzsBKaIwx7sQxZsOIUCXEAZKkDhGd5gDB/Gu/FlmmZsGjWN2ZtdiMBMfgMzgbj4</latexit><latexit sha1_base64="MMErhfQ1TWnTWOElRtyFuoNMBN0=">AAACU3icfVDNSsNAGNzEqrX+RT16KRahQi2JCB68FCzUg4eK9gdMqZvt17p0s4m7G20JfRbvvoZXD1481DfwDQQRTG0PphVnYRlmZvf7GMdnVCrTHGr6XGJ+YTG5lFpeWV1bNzY2q9ILBIEK8Zgn6g6WwCiHiqKKQd0XgF2HQc3pnoz82h0IST1+qfo+NFzc4bRNCVaR1DSKdsBbIByBCYT28b/nNsCtv65B08iYefMH6VliTUimkHt+evi6fi83jQ+75ZHABa4Iw1JeWaavGiEWihIGg5QdSPAx6eIOhNiVsu86cdHF6kb6QOLqPZb9KBsX21FVFMS+J7iMO85UshdwSrzW1PweUz0lcCRKUC6mvO1xFZYoY+kLPPpyd2xEC42cbJF2qJK5s6hgnisJgO7er3RUlTVdzCypHuQtM2+dR50dojGSaBvtoCyy0BEqoFNURhVE0CN6QUP0pr1qn7quJ8ZRXZu82UIx6Kvfkiy7PQ==</latexit><latexit sha1_base64="MMErhfQ1TWnTWOElRtyFuoNMBN0=">AAACU3icfVDNSsNAGNzEqrX+RT16KRahQi2JCB68FCzUg4eK9gdMqZvt17p0s4m7G20JfRbvvoZXD1481DfwDQQRTG0PphVnYRlmZvf7GMdnVCrTHGr6XGJ+YTG5lFpeWV1bNzY2q9ILBIEK8Zgn6g6WwCiHiqKKQd0XgF2HQc3pnoz82h0IST1+qfo+NFzc4bRNCVaR1DSKdsBbIByBCYT28b/nNsCtv65B08iYefMH6VliTUimkHt+evi6fi83jQ+75ZHABa4Iw1JeWaavGiEWihIGg5QdSPAx6eIOhNiVsu86cdHF6kb6QOLqPZb9KBsX21FVFMS+J7iMO85UshdwSrzW1PweUz0lcCRKUC6mvO1xFZYoY+kLPPpyd2xEC42cbJF2qJK5s6hgnisJgO7er3RUlTVdzCypHuQtM2+dR50dojGSaBvtoCyy0BEqoFNURhVE0CN6QUP0pr1qn7quJ8ZRXZu82UIx6Kvfkiy7PQ==</latexit><latexit sha1_base64="XHPsGdgQhpl9zLh5/OTzwtKf05c=">AAACU3icfVBBSwJBGJ3drMyytjp2kSQwMNmNoEMXIcEOHYzShFZkdvy0wdmZbWa2lMU/1K/p0sF+SdClNffQavQGhsd7b+b7eF7AqNK2PTXMlczq2np2I7e5ld/esXb3WkqEkkCTCCZk28MKGOXQ1FQzaAcSsO8xuPeGlzP//hmkooLf6XEAHR8POO1TgnUsda2aG/IeSE9iApF78e95CnHvr2vStYp2xf5BYZk4CSmiBI2u9en2BAl94JowrNSDYwe6E2GpKWEwybmhggCTIR5AhH2lxr6XFn2sH1UAJK2+YDWOs2mxH1dFQZ4IyVXa8RaSo5BTInoL80dMj7TEsahA+5jyvuA6qlPGCrd49uXR3IgXmjmlGh1QrcrXccG8XJcAw+Nf6bgqZ7GYZdI6rTh2xbmxi9WzpLQsOkCHqIQcdI6q6Ao1UBMR9Ire0BR9GO/Gl2mamXnUNJI3+ygFM/8NTBy2XQ==</latexit>

/`BpBM;
<latexit sha1_base64="OiWNlpKBpMH8YPx5Y2T1PzFUZHQ="></latexit><latexit sha1_base64="OiWNlpKBpMH8YPx5Y2T1PzFUZHQ="></latexit><latexit sha1_base64="OiWNlpKBpMH8YPx5Y2T1PzFUZHQ="></latexit><latexit sha1_base64="OiWNlpKBpMH8YPx5Y2T1PzFUZHQ="></latexit>

>�KBHiQMB�M, H

U0
= 8P 2 �R

2
i0X

2 + cosX cos(2⇡T )
<latexit sha1_base64="eyz2wchumg6Y3LrI/YQhpNWr0YQ="></latexit><latexit sha1_base64="eyz2wchumg6Y3LrI/YQhpNWr0YQ="></latexit><latexit sha1_base64="eyz2wchumg6Y3LrI/YQhpNWr0YQ="></latexit><latexit sha1_base64="eyz2wchumg6Y3LrI/YQhpNWr0YQ="></latexit>

︸ ︷︷ ︸<latexit sha1_base64="GDVslodZm/Jm91VW3/LizTyDmZk=">AAACQnicjVC7SgNBFL0bXzG+Vi1tgkGIEMOuChY2AYVYWEQ0DzAhzE5u4pDZ2WVmVhOWfIidf2KhhYI/4C/YiY2FhRuTwo2N5zaHc869MxzH50xpy3o1ElPTM7NzyfnUwuLS8oq5ulZRXiAplqnHPVlziELOBJY10xxrvkTiOhyrTvdo6FevUSrmiQvd97Hhko5gbUaJjqSmuVcPRAulIwnFsH74nxk0zYyVt36Q/kvsMckUci8PdwBQapqf9ZZHAxeFppwodWlbvm6ERGpGOQ5S9UChT2iXdDAkrlJ914mLLtFXykcaV2+I6kfZuNiOmmEodzwpVNxxJpK9QDDqtSbe73Hd05JEokLtEibantBhkXGePifDk1sjI/rQ0Mkesw7TKnca9SlyRYnY3f6VjqqyJ4v5Syq7edvK22dRZ/swQhI2YBOyYMMBFOAESlAGCrdwD0/wbDwab8a78TGKJozxzjrEYHx9A6NFs4Q=</latexit><latexit sha1_base64="5RS/ZGqfi36p3MVH0ZBulQqutL8=">AAACQnicjVC7SgNBFJ2Nrxhfq5Y2wSBEiGFXBQubgEIsLCKaB5gQZyc3ccjs7DIzqwlLPsTKT7HQQsEf8BO0ExsLBScmhZs0ntsczjn3znAcn1GpLOvFiE1MTk3PxGcTc/MLi0vm8kpJeoEgUCQe80TFwRIY5VBUVDGo+AKw6zAoO+2Dvl++AiGpx89U14eai1ucNinBSkt1c6ca8AYIR2ACYXX/P9Ormykra/0iOU7sIUnlMs/3t98Xr4W6+VlteCRwgSvCsJTntuWrWoiFooRBL1ENJPiYtHELQuxK2XWdqOhidSl9IFH1GsuuzkbFpm6GgtjyBJdRxxlJdgJOidcYeb/DVEcJrEUJysWUNz2uwjxlLHmK+yc3Bob+UN9JH9IWVTJzrPvkmbwAaG/+Seuq7NFixklpO2tbWftEd7aLBoijNbSO0shGeyiHjlABFRFBN+gOPaIn48F4M96Nj0E0Zgx3VlEExtcPAf+1yQ==</latexit><latexit sha1_base64="5RS/ZGqfi36p3MVH0ZBulQqutL8=">AAACQnicjVC7SgNBFJ2Nrxhfq5Y2wSBEiGFXBQubgEIsLCKaB5gQZyc3ccjs7DIzqwlLPsTKT7HQQsEf8BO0ExsLBScmhZs0ntsczjn3znAcn1GpLOvFiE1MTk3PxGcTc/MLi0vm8kpJeoEgUCQe80TFwRIY5VBUVDGo+AKw6zAoO+2Dvl++AiGpx89U14eai1ucNinBSkt1c6ca8AYIR2ACYXX/P9Ormykra/0iOU7sIUnlMs/3t98Xr4W6+VlteCRwgSvCsJTntuWrWoiFooRBL1ENJPiYtHELQuxK2XWdqOhidSl9IFH1GsuuzkbFpm6GgtjyBJdRxxlJdgJOidcYeb/DVEcJrEUJysWUNz2uwjxlLHmK+yc3Bob+UN9JH9IWVTJzrPvkmbwAaG/+Seuq7NFixklpO2tbWftEd7aLBoijNbSO0shGeyiHjlABFRFBN+gOPaIn48F4M96Nj0E0Zgx3VlEExtcPAf+1yQ==</latexit><latexit sha1_base64="yrduE3kP4OwMLSEHBk1C1lVPC50=">AAACQnicjVC7TgJBFL2LL8TXqqUNkZhggmRXTSxsSDTBwgKjPBIhZHa44ITZ2c3MrEI2fIhfY2Ohn+Av2BkbCwsX2cKFxnObk3POvTM5js+Z0pb1ZqTm5hcWl9LLmZXVtfUNc3OrprxAUqxSj3uy4RCFnAmsaqY5NnyJxHU41p3+2div36NUzBM3euhjyyU9wbqMEh1JbfOoGYgOSkcSimHz9D8zaps5q2j9IjtL7JjkIEalbX41Ox4NXBSacqLUrW35uhUSqRnlOMo0A4U+oX3Sw5C4Sg1dJym6RN8pH2lSfSBqGGWTYjdqhqE88KRQSceZSg4CwajXmXp/wPVASxKJCrVLmOh6Qodlxnn2moxP7k2M6ENjJ3/OekyrwmXUpyiUJWJ//086qsqeLmaW1A6LtlW0r6xc6TguLQ07sAt5sOEESnABFagChUd4ghd4NZ6Nd+PD+JxEU0a8sw0JGN8/u+Cw6Q==</latexit>

*H�bbB+�H /vM�KB+b
<latexit sha1_base64="zGU+uyMSXgEx6Ua9ZpamQhBiCL8="></latexit><latexit sha1_base64="zGU+uyMSXgEx6Ua9ZpamQhBiCL8="></latexit><latexit sha1_base64="zGU+uyMSXgEx6Ua9ZpamQhBiCL8="></latexit><latexit sha1_base64="zGU+uyMSXgEx6Ua9ZpamQhBiCL8="></latexit>

_272`2M+2b
<latexit sha1_base64="DL4CCCU+HXmL96E1rN3f9K80YRA="></latexit><latexit sha1_base64="DL4CCCU+HXmL96E1rN3f9K80YRA="></latexit><latexit sha1_base64="DL4CCCU+HXmL96E1rN3f9K80YRA="></latexit><latexit sha1_base64="DL4CCCU+HXmL96E1rN3f9K80YRA="></latexit>

E�TBix� bi�#BHBx�iBQM Q7 � `2TmHbBp2 "1*
<latexit sha1_base64="cL2ptvTuo0S6bdyVAgn3t+3F8Yc="></latexit><latexit sha1_base64="cL2ptvTuo0S6bdyVAgn3t+3F8Yc="></latexit><latexit sha1_base64="cL2ptvTuo0S6bdyVAgn3t+3F8Yc="></latexit><latexit sha1_base64="cL2ptvTuo0S6bdyVAgn3t+3F8Yc="></latexit>

Zm�MimK 2pQHmiBQM rBi? :S1
<latexit sha1_base64="S0nbnM7PlT/pdfRqz39Jq0PyBX8="></latexit><latexit sha1_base64="S0nbnM7PlT/pdfRqz39Jq0PyBX8="></latexit><latexit sha1_base64="S0nbnM7PlT/pdfRqz39Jq0PyBX8="></latexit><latexit sha1_base64="S0nbnM7PlT/pdfRqz39Jq0PyBX8="></latexit>

AM `2/m+2/ p�`B�#H2b- :`Qbb@SBi�2pbFBB 2[m�iBQM `2�/b
<latexit sha1_base64="Mtf0KvQ6KQ885EfLRd/kBeVqMX8="></latexit><latexit sha1_base64="Mtf0KvQ6KQ885EfLRd/kBeVqMX8="></latexit><latexit sha1_base64="Mtf0KvQ6KQ885EfLRd/kBeVqMX8="></latexit><latexit sha1_base64="Mtf0KvQ6KQ885EfLRd/kBeVqMX8="></latexit>

i@T = 4⇡R0`

✓
�~e↵@2

X +
cos(2⇡T ) cosX

8~e↵
+

ḡ| |2

2

◆
 

<latexit sha1_base64="mlwmMzK0STs9qvyIZtfqxQQJ3IY="></latexit><latexit sha1_base64="mlwmMzK0STs9qvyIZtfqxQQJ3IY="></latexit><latexit sha1_base64="mlwmMzK0STs9qvyIZtfqxQQJ3IY="></latexit><latexit sha1_base64="mlwmMzK0STs9qvyIZtfqxQQJ3IY="></latexit>

X, TQbBiBQM BM mMBib Q7 i?2 H�iiB+2 bT�+BM;
T , iBK2 BM mMBib Q7 i?2 /`BpBM; T2`BQ/
R0` = !0/!`, 7`2[m2M+v `�iBQ
~e↵ / U�1/2

0 , 2z2+iBp2 SH�M+F +QMbi�Mi
ḡ, �iQK@�iQK BMi2`�+iBQM bi`2M;i?

<latexit sha1_base64="desxWvm37CotlTk9YmUC3cx1fWE="></latexit><latexit sha1_base64="desxWvm37CotlTk9YmUC3cx1fWE="></latexit><latexit sha1_base64="desxWvm37CotlTk9YmUC3cx1fWE="></latexit><latexit sha1_base64="desxWvm37CotlTk9YmUC3cx1fWE="></latexit>

S`Q#�#BHBiv /2MbBiv 2pQHmiBQM
<latexit sha1_base64="CZGYtLRAhEBPCgqQKN93XfCzi7U="></latexit><latexit sha1_base64="CZGYtLRAhEBPCgqQKN93XfCzi7U="></latexit><latexit sha1_base64="CZGYtLRAhEBPCgqQKN93XfCzi7U="></latexit><latexit sha1_base64="CZGYtLRAhEBPCgqQKN93XfCzi7U="></latexit>

S`Q#�#BHBiv BMbB/2 i?2 BMBiB�H Ǵr2HHǴ, PS(T ) =

Z +⇡/2

�⇡/2
| (X,T )|2dX

<latexit sha1_base64="E0gxWrgCx8+3lA+nbjjtReTQ3s8="></latexit><latexit sha1_base64="E0gxWrgCx8+3lA+nbjjtReTQ3s8="></latexit><latexit sha1_base64="E0gxWrgCx8+3lA+nbjjtReTQ3s8="></latexit><latexit sha1_base64="E0gxWrgCx8+3lA+nbjjtReTQ3s8="></latexit>

ai�#BHBiv /B�;`�K
<latexit sha1_base64="u7lOvk2hsf30VQIvVCcdetsU+fA="></latexit><latexit sha1_base64="u7lOvk2hsf30VQIvVCcdetsU+fA="></latexit><latexit sha1_base64="u7lOvk2hsf30VQIvVCcdetsU+fA="></latexit><latexit sha1_base64="u7lOvk2hsf30VQIvVCcdetsU+fA="></latexit>

ai�#BHBx2/ 7`�+iBQM Q7 i?2 +QM@
/2Mb�i2 �b [m�MiB}2/ #v PS =
1
10

R 3Tsp+10
3Tsp

PS(T )dT r?2`2 Tsp Bb �
+?�`�+i2`BbiB+ bT`2�/BM; iBK2 Q7 i?2
BMBiB�H r�p2 T�+F2i BM i?2 �#b2M+2
Q7 /`BpBM; UU0 = 0V /2i2`KBM2/ #v
P s=0
S (Tsp) = 0.75- �b � 7mM+iBQM Q7

R0` �M/ Ri0,e↵ = !i,eff

!0
UKmHiBTHB2/

#v � b+�HBM; +Q2{+B2Mi ↵ = 0.2V rBi?
!i,eff

!0
/

q
~eff ḡ
�̃3 7Q` �M BMBiB�H :�mb@

bB�M r�p2 T�+F2i Q7 rB/i? �̃X
<latexit sha1_base64="JzpppekY4CCfQTNnrXykpnB0Hio="></latexit><latexit sha1_base64="JzpppekY4CCfQTNnrXykpnB0Hio="></latexit><latexit sha1_base64="JzpppekY4CCfQTNnrXykpnB0Hio="></latexit><latexit sha1_base64="JzpppekY4CCfQTNnrXykpnB0Hio="></latexit>

S`Q#�#BHBiv /2MbBiv �b � 7mM+iBQM Q7
TQbBiBQM �M/ iBK2 7Q` R0` = 0.6- ḡ =
0.6- ~e↵ ⇡ 0.035 �M/ �M BMBiB�H :�mb@
bB�M r�p2 T�+F2i rBi? Ri0,e↵ ⇡ 1.34X

<latexit sha1_base64="K5BaRbNtrT5TdR0D+w53tDHL5kA="></latexit><latexit sha1_base64="K5BaRbNtrT5TdR0D+w53tDHL5kA="></latexit><latexit sha1_base64="K5BaRbNtrT5TdR0D+w53tDHL5kA="></latexit><latexit sha1_base64="K5BaRbNtrT5TdR0D+w53tDHL5kA="></latexit>

a22 CX J�`iBM- "X :2Q`;2Qi- .X :mû`v@P/2HBM �M/ .X GX a?2T2Hv�MbFv- S?vbX _2pX � Nd-
ykjeyd UkyR3V � �`sBp,RdyNXyddNk �M/ `272`2M+2b i?2`2BM

<latexit sha1_base64="iveQI4Vsn1OMZ8AaPIv2BGtVNjc="></latexit><latexit sha1_base64="iveQI4Vsn1OMZ8AaPIv2BGtVNjc="></latexit><latexit sha1_base64="iveQI4Vsn1OMZ8AaPIv2BGtVNjc="></latexit><latexit sha1_base64="iveQI4Vsn1OMZ8AaPIv2BGtVNjc="></latexit>

<latexit sha1_base64="/AaEfKTXAHj/+AGj12nV1VKCisc="></latexit>


